[ normalized x? probability |

10

10724

107

107

107

—6 H H
1009 J" 1||n||
i

T
whhw\l \
Inllw i

Ratio
Ratio

095

0.95,

0 2 4 6 8101214161820

= DQM_V0001_R000000001__Global__CMSSW_100ti
e DQM_V0001_RO00000001__Global__CMSSW_100timeHPTT
m—— DQM_V0001_R000000001__Global __CMSSW_100timePLa

< x2/ndf >

Ratio

A 5: A n
2 455_ 2 1 8:—'
w F < 1.6f-
\ 4: v o
354 Lap-
E 1.2F
3F o
E -
2.5 F
E 0.8~
E 0.6F
1.5;' 0.4F
r " 0.2
o O&F i i ’ o O
© H T
@ a @
1 ng E ] - 0.5F
o 1 1l0 1(l)2 0 10° — 1072 1071
&T AR(track, jet?



	Contents
	Page 1


